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TEST	
  DE	
  MATEMÁTICAS:	
  
	
  
	
  

1. Sea	
  𝑦  =  (𝑥  −  3)−2.	
  	
  ¿Cuál	
  es	
  el	
  recorrido	
  (imagen)	
  de	
  la	
   función?	
  
	
  

A. 𝑅  
B.	
  	
  	
  𝑦  ≥   0  
C.	
  	
  	
  𝑦  >  0,    𝑦  ≠    3  
D.	
  	
  	
  Ninguna	
  de	
  las	
  anteriores	
  

	
  
2. El	
  resultado	
  de	
  	
  la	
  ecuación	
  irracional	
  	
  √𝑥  +  3  −  √𝑥  =  √3  es:	
  
	
  

A. La	
  ecuación	
  se	
  verifica	
  para	
  todo	
  valor	
  de	
  x	
  
B. La	
  ecuación	
  se	
  verifica	
  para	
  todo	
  valor	
  de	
  x	
  	
  mayor	
  o	
  igual	
  que	
  -­‐3	
  
C. No	
  tiene	
  solución	
  real	
  
D. Se	
  verifica	
  para	
  x=0	
  



2	
  

	
  

	
  
	
  



3	
  

	
  

	
  
	
  


